= |EEA
F =\
y = eco
@j\' PASS

PORT. - hager

Product Environmental Profile
Centre plate double socket modular with contact protection black

Company information References covered

Hager WL6263, WL6262, WL6260

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version No PSR issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product Functional unit

Reference product identification Cover plate for domestic socket devices
WL6263

Use scenario based on :
PSR product Category : No PSR The functional unit is based on the use scenario recommended by the PCR for the category of the reference
0 product.

Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others

[¢] % g () %
PC 17.44 51.8% Stainless steel 1.12 3.3% Cardboard 8.33 24.7%
PAG6 3.74 11.1% Calcium 0.01 <0.1% Wood 0.79 2.4%
O PP 1.00 3.0% Zinc 0.00 <0.1% Cardboard 0.63 1.9%
PE-LD 0.16 0.5% Silicon 0.00 <0.1% Other 0.13 0.4%
Polyester resin 0.09 0.3% Titanium dioxide 0.07 0.2%
Epoxy resin 0.09 0.3% Other 0.06 0.2%

Total mass of reference product with raw material 33689

packaging :

Total mass of reference product 31669

(Product + packaging)

PEP ecopassport 1/5 HAGE-01340-V01.01-EN



System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from “cradle to grave".

Manufacturing Distribution Installation End of life Module D

=3
£
- © 0
g g g @ §§ '%
S 5 = = — = = = S = kel
= 3 S S ISl =1 S 7} >
GU,»‘E = = c2 ed S - c 9 85
o E] = [} c = = 9 o © c =4 =3 g 3
s£| g c =5 S5 8% 3 5 c j=<) 25 (s} 29 2 c °Q
R El S o c o < c o T8 c g = e E 7] =
T 9 £ S S 8 5 8 o £ s = £ £=1 = T = T ==} @ S T E
=g g = 2 22 =2 e ] 5] <] E 0 £® = S ) 4 =]
88| a 35 ) ] [} = s} 51 2o o Q g o 9 a S B
= O £ - o = Q 3 =1 [ I = = 0 = 0 0 0 = 5 = ) 0 >
g5|5| 2 g3 = gl = | € | £ | 5 |32 |35| £ |&§:s |28 3 £
g = 2 5 2 S [5) ) S o D S 2 z =
E2 | ¢ g 88 2% S5 = o @ SR SRS 8 -8 o @ 22
RS = [Shy% =3 Qo = i 2 € g G =
% o ) o o2 &) S ER] FRe]
%) < < D= > = [0} %} c
&g ] s s T < o > s
S c = = = D S
[ o [ 3
= 2 -
=
S

=K] B4

Life cycle stages

Manufacturing Distribution
These products are manufactured by a site that has received an environmental The packaging has been designed in accordance with current regulations. In particular,
certification 1ISO 14001. the European directive 94/62/CE relative to packaging and packaging waste.
This phase takes into account raw materials, manufacturing processes, production The used packaging is 100% recyclable or recoverable.
offcuts and their end-of-life treatment, upstream transport of materials and sub- Packaging and logistic flows are continuously improved in order to reduce their impact.
assemblies to the manufacturing site, and transport from the manufacturing site to the
final logistics platform. This phase taken into account the transport of the finished product, including packaging,

to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the the packaging waste treatment is taken into account.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0 100% 0 0% 0 0% 0 0% 0 100%

For the considered scenario, the product has no energy consumption.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 22%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.2.5-3 with the database version CODDE® 2024-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturi Distribution Installation End Of Life

ng A4 A5 C1-C4
Europe - Europe Europe Europe

PEP ecopassport 2/5 HAGE-01340-V01.01-EN



Environmental impact indicators

Indicators Unit

Acidification (PEF-AP) mole H+ eq.

Climate change - Total (PEF-GWP) kg CO2 e

Climate change-Biogenic (PEF-GWPb) kg CO2 eq.

Climate change-Fossil (PEF-GWPf) kg CO2 eq.

Climate change-Land use and land use
change (PEF-GWPIu) kg CO2 e
Ue

Ecotoxicity, freshwater (PEF-CTUe)

EF-particulate Matter (PEF-PM)

Eutrophication, freshwater (PEF-Epf)

kg P eq.

Eutrophication, marine (PEF-Epm)

kg N eq.

Eutrophication, terrestrial (PEF-Ept) mole of N eq.

Human toxicity, cancer (PEF-CTUh-c) CTUh

Human toxicity, cancer (PEF-CTUh-nc) CTUh

lonising radiation, human health (PEF-IR) kg Bq U235 e

Ozone depletion (PEF-ODP) kg CFC-11 eq.

Photochemical ozone formation - human
health (PEF-POCP) ) @il NEOE gl

Resource use, fossils (PEF-ADPf) _

Resource use, minerals and metals @ S @
(PEF-ADPe) 9 Sbeq

Resource use indicators

Indicators

Net use of fresh water

Total primary energy

Total non renewable primary energy

Total renewable primary energy

Non renewable primary energy used as energy

Non renewable primary energy used as raw

Use of non renewable secondary fuels

Renewable primary energy used as energy

Renewable primary energy used as raw|
material

Use of renewable secondary fuels

Use of secondary material

e -

PEP ecopassport

Manufacturing Distribution Installation Use End Of Life

A1-A3 A4 | A5 B1-B7 C1-C4 GlLOBAL | ekl
3.76E-04 3.50E-05 2.68E-05 0.00E+00 1.61E-04 5.99E-04 -4.58E-05
1.06E-01 5.52E-03 1.28E-02 0.00E+00 3.07E-02 1.55E-01 -4.20E-02
-1.05E-02 0.00E+00 2.12E-03 0.00E+00 5.60E-04 -7.85E-03 -1.22E-04
1.17E-01 5.52E-03 1.06E-02 0.00E+00 3.01E-02 1.63E-01 -4.19E-02
2.59E-05 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.59E-05 0.00E+00
1.07E+00 3.62E-03 1.33E-01 0.00E+00 9.65E-02 1.30E+00 -2.45E-02
3.65E-09 2.85E-10 1.62E-10 0.00E+00 1.74E-09 5.84E-09 -1.64E-09
6.03E-07 2.08E-09 1.33E-07 0.00E+00 3.77E-07 1.12E-06 -8.32E-07
7.89E-05 1.64E-05 1.24E-05 0.00E+00 2.90E-05 1.37E-04 -1.05E-05
7.95E-04 1.80E-04 7.87E-05 0.00E+00 3.30E-04 1.38E-03 -1.31E-04
5.53E-09 9.72E-14 1.01E-09 0.00E+00 1.34E-11 6.55E-09 -2.85E-11
8.73E-10 1.88E-12 3.01E-11 0.00E+00 2.24E-10 1.13E-09 -1.56E-10
8.87E-02 1.35E-05 1.60E-03 0.00E+00 1.46E-03 9.18E-02 -2.76E-04
7.39E-02 0.00E+00 2.43E-05 0.00E+00 5.30E-02 1.27E-01 -2.69E+00
6.20E-09 8.48E-12 1.21E-10 0.00E+00 3.58E-09 9.91E-09 -6.49E-10
2.95E-04 4.54E-05 1.83E-05 0.00E+00 1.01E-04 4.59E-04 -3.83E-05
2.50E+00 7.72E-02 9.17E-02 0.00E+00 4.54E-01 3.13E+00 -9.34E-02
7.09E-07 2.18E-10 2.34E-10 0.00E+00 2.23E-07 9.32E-07 -3.74E-08
3.86E-02 2.10E-05 8.09E-04 0.00E+00 4.72E+00 4.76E+00 -1.33E+00

Manufacturing Distribution Installation Use End Of Life

A1-A3 A4 | A5 B1-B7 c1-ca GLOBAL | Module D
8.99E-04 4.89E-07 1.88E-05 0.00E+00 1.30E-01 1.31E-01 -3.56E-02
2.66E+00 7.73E-02 1.04E-01 0.00E+00 4.78E-01 3.32E+00 -4.87E-01
2.50E+00 7.72E-02 9.17E-02 0.00E+00 4.54E-01 3.13E+00 -9.34E-02
1.57E-01 1.03E-04 1.24E-02 0.00E+00 2.40E-02 1.93E-01 -3.94E-01
1.90E+00 7.72E-02 9.17E-02 0.00E+00 4.54E-01 2.52E+00 -9.34E-02
6.06E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 6.06E-01 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
1.30E-01 1.03E-04 1.24E-02 0.00E+00 2.40E-02 1.67E-01 -3.94E-01
2.64E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.64E-02 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
1.34E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.34E-02 0.00E+00

3/5 HAGE-01340-V01.01-EN



Waste category indicators

Indicators

Hazardous waste disposed 5.27E-02

Manufacturing

Distribution

A4
0.00E+00

Installation
A5

2.26E-04

B1-B7
0.00E+00

Ci1-c4
8.32E-21

End Of Life |

GLOBAL

5.29E-02

0.00E+00

1.29€e-01

Non hazardous waste disposed

1.94E-04

4.49E-03

0.00E+00

3.94E-06

1.34E-01

0.00E+00

Radioactive waste disposed 5.11E-05

1.38E-07

5.00E-07

0.00E+00

2.81E-09

5.17E-05

0.00E+00

Output flow indicators

Indicators AL-A3

Manufacturing

Distribution

A4

Installation
A5

B1-B7

Ci1-c4

End Of Life |

GLOBAL

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 2.67E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.67E-04 0.00E+00
Materials for energy recovery 3.61E-04 0.00E+00 1.13E-03 0.00E+00 0.00E+00 1.49E-03 0.00E+00
Materials for recycling 3.11E-04 0.00E+00 4.21E-04 0.00E+00 0.00E+00 7.32E-04 0.00E+00

Biogenic carbon content

Packaging

Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
8.97E-03 2.32E-05 7.92E-04 9.78E-03
Biogenic carbon content (declared unit) 2.51E-03 8.79E-06 3.13E-04 2.83E-03
Biogenic carbon content (functional unit) 2.51E-03 8.79E-06 3.13E-04 2.83E-03

ADEME APESA/RECORD EN 16485

Prod ardboard Pape ood

0.00E+00 0.00E+00 0.00E+00 0.00E+00
arbon conte ecla 0.00E+00 0.00E+00 0.00E+00 0.00E+00
arbon conte 0 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Registration N°:  HAGE-01340-V01.01-EN

Drafting Rules

PEP-PCR-ed4-2021 09 06

Supplemented by

No PSR

Verifier accreditation N°:  VH37

Information and reference documents: www.pep-ecopassport.org

Date of issue: 2-2025

Validity period:

5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019

The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota
The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ..., real values for a product in a concrete

application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.
The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport

4/5

HAGE-01340-V01.01-EN




Appendix

- kgl

ing

Is for recycli

Land use (PEF-LU)
erial

ication (PEF-AP) - [mole H+ eq.]
Exported energy - [MJ]
(PEF-ADPe) - [kg Sb eq]
Total primary energy - [MJ]

Components for re-use - [kg]
Net use of fresh water - [m:

hange - Total (PEF-GWP) - [kg CO2 eq.]
Mat

Hazardous waste disposed - [kg]
Materials for energy recovery - [kg]
Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Resource use, minerals and metals
Total renewable primary energy - [MJ]
Use of secondary material - [kg]
Water use (PEF-WU) - [m3 eq]

=
3
o
Q
O
o
<
[
=
@
L
w
()
®
<3
2
<
£
S
@
8
3
35
2
s
2
G
@
2
2
g

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWPT) - [kg CO2 eq]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]
lonising radiation, human health (PEF-IR) - [kg Bq U235 eq.]
Non renewable primary energy used as energy - [MJ]
Non renewable primary energy used as raw material - [MJ]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]
Renewable primary energy used as energy - [MJ]
Renewable primary energy used as raw material - [MJ]
Resource use, fossils (PEF-ADPf) - [MJ]

Total non renewable primary energy - [MJ]

Use of non renewable secondary fuels - [MJ]

Use of renewable secondary fuels - [MJ]

Climate change-|
Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC

20
< 5

£S5 MEPIEI corco| ssicas| omeos| seor] aseas| omero| ssiwao] amseor| smeos| sueas| corco smecs| ssseon| someo] vwecr| rsocce| seieos] snear| roew| smew| amen| ceo| suees| ssseor| suseos] soens| s ssenr] ssocon| ruieor] o] sween| ssmeor] o] omero| ssea| sean
E(

e WL62 oorear] ssiar| oaeos| sceas| socos| ooeo] ssrean| aeor] smeos] sueas| soreor] smew| ssseor| soeor] amens| rsocoe| sureos] snear| roew| sseas| cmeo| seor| suess| sssco sueor] soeos| soreor] suee| ssocn| riieor] ssoso| swveer| ssuer| oooean| omero] sseie| sarean
2 _

asieor] 10ecor| ozeo| 1eor| 2somos| oooeico| osoeas| sosear| reos| rmeor| 2eeos| sorece| sswoo| essesof sooer| reoece| sseos| aneor| smeos| 1meor| ieew| smen| azecs| amee| 2sseos| esseos

i

20ee02| 20e000| rose0r| 2ee00| zeceo| 1sa0r] ocoeson| oooevco| raeo| sooece)

24605 ao7ecs| ooewoo| asreos| oooeo| ooveico| 2seecs| vsscos| vaseos| saseor| oooeiwo| omewoo| eseaaf 1meso| oaseos| osoein| ooevoo| oooeio| saseor| 1mees| suece| oooewo| seseo| 200e0| sisees| ormeon| raeos| oooewo| smeor| isses| sacoo| semor| r22e08| ocoion| oooevco| oooeioo| sarecs)

2a6e0s| ao7ecs| ooewoo| asreos| oooeo| ooveico| 2seecs| vsscos| vaseos| saseor| oooeiwo| omewoo| eseaaf 1meso| oaseos| osoein| ooevoo| oooeio| saseor| 1mees| suece| oooewo| sesea| 200e0| sisees| oreon| raeos| oooewo| smecr| isseao| sacor| semor| 2260s| ocoeion| cooevco| oooeioo| sarecs)

Distribution| M
A4
2|z |2
R IR R
g IR |&

IO :eos| soreos| o] sorecs| oonero] ooeo| asseos| sueon) saseas| zseor] oooeo] ovoesn| eme] sseis] owseon| oomeco] oooro| omero| swear] ssear| sureor) aoeo| soseis| aweso] seas| oroeos| rases| ocoern| sueor| ssseio] suiccr| surer] raseas| owesn| aoveco] ococin| surees
5]
g< PRI ococvo oooeeco| omeen| ooteco] ocevan| ounero] aooe] otoeecn| ocnero] aovesao| oumecon| aovec] ocoean| oanero] aooesto] otoeccn| oot socevan| omeon| aove] ocotvan| ounero] aoceto] oeson| ootero] aoesan| oumeeo] aoves] ooevcn| ocner] aocerto] soesn| oot oeran| ouero] aooe] otoeean
E]
g WIRZIZI ococvo ooceeco| oween| ooueco] ocevan| ouero] aooe] otosecn| ocnero] aocevao| omecn| aoveco] ocoean| ounero] aooesto] otoecon| oot socevon| oumeon| aoveo] ocotvan| oanero] aoceto] oecon| ootero] oesan| ouneeo] aooes] ooevan| osner] aoceto] soesn| aoteo oeran| ounero] aooeo] otoeean
TR ococvo] ooceeco| omeeon| ooteo] ocevan| ounero] aooe] otoeccn| ocnero] aocesao| oumeon| aovec] ocoean| ounero] aooesto] otoeccn| oosero aocevan| oumeoo| aove] ocotvan| ounero] aoceto] oeson| ootero] oesan| oumeeo] aoves] ooevan| osnero] aocerto] soesn| oot oevan| ouneeo] aooe] otoeean
85
34 PRI ococvo] ooceeco] oween| ooteo] ocevan| ouero] aooe] otoeecn| ocnero] aovesao| omeon| aoveco] ocoean| oanero] aooesto] otoecon| oot socevan| oumeon| aoveo ocotvan| ounero] aoceto] oecon| ootero] aoesan| oumeoo] aoves] ooevan| oanero] aoceto] osoesn| aoteo] oeran| ounero] aooe] otoeean
@
WIRZIZI ococvo ooceeco| omeen| ooteo] ocevan| ounero] aooe] otoeecn| ocnero] aooesao| ouecn| aoveco] ocoean| ounero] aooesto] ooecon| oosero] aocevan| oumeon| aoveo ocotvan| ounero] aoceto] oecon| ootero] aoesan| ouneeo] aooes] ooevan| osnero] aoceto] osoesn| oot oevan| ounero] aooe] otoeean
ouneso| aoteco] owosvon| osuerco] oeuto| osoesn| aotesoo] ooeson| ouero| aoteco osovan| oserco] cosutof osoesn| aoseso] ooeson| oumeoo] aotec] osoean| oaterc] aocevto] oecon| ootero] soevan| oumeon| aove] ooevan| oanero] aoceo] oon| ooteio] aeran| omeon| ooveo) ootean| ounero] aovee

oS
=R ORI coico| soreee| seas] sorcon| oooeoo| osern| smseoe| amean| soes| sseor] ooneeo| osern| sssens| ameso] ] sses] ooveeo| osern| ssoeer| sseon| asieos| oveco| ssseos| sricos| soreor| veon| swees| oveco| asmeor| sameor| ssseor| ameas| suee| oveco aoneo] oosern| areen
(SRS
2 WREIPI coico| sorece| seas] sorcos| oooeoo| osern| swseoe| amean| smes| sseor] oooeeo| osern| ssiens| ameso] ] sses] woveeo| osern| ssoeer| sseon| ssieos| oveco| ssseos| sricos| soseor| cveon| swee| oveco| asmeor| sameor| ssseor| ameas| suee| oveco aomeo] oosern| areen
a
WRETIOMN coicoo| sorece| seas] sorcon| oooeoo| osern| swseoe| amean| smes| sseor] oooeeo| osern| ssiens| ameso] ] sses] ooveeo| osern| ssoeer| sseon| asieos| oveco| ssseos| srucos| soreor| cveon| swees| oveco| asseor| sameor| ssseor| ameas| suee| oveco aomeo] oosern| areen
a
2 WRETEMN o] soscn| smeas] sercon] ooneoo| osern| sseoe| asomar| soeas| soseos oooeeo| osern| swens| asess| s sonen| woveeo| osern| arece| omoean| sses| oeol sancos| soncon| orseos| omoman| ame| oo siscor| sseor| ssseor| ssean| mess| oveco aoneo] oosern| sssen
H WREITI o] somcn| smes] sercon| ooneoo| osern| sseoe| asoear| soeas| soseos ooveeo| osern| swsens| asess| s soneos ooveeo| osern| arece| omoean| smes| oeco sancos| soncon| oreos| omoman| sme| oo siscor| sseor| asseor| sssear| amess| ool aomeo] oosern| sssen
WL6260

aseeos| az0ece| zaeoe| asoeor| oooeemo| omewoo| zeseoa| meor| roseos| ameos| ooevoo| oooeioo| 2asenn| -aseeso| -2zsecs| 2eseico| oooeio| oooeico| assece| omevoo| seco| oooeioo| sasen| asion| ameos| oooeio| asieor| ocoion| ssece| areon| amecr]| amreos| asec| owevo| ooesoo| oooeron| -1xseie)

PEP ecopassport 5/5 HAGE-01340-V01.01-EN



